(o] OO
O O o ~o
@)
[ POSITION GASKET ON END OF VALVE SO
A A MOUNTING HOLES ALIGN,
BOTH ENDS (SIDE 'A' SHOWN)
B
; NOTES:
[ 1) ALWAYS GIVE VALVE MODEL AND PART NUMBER WHEN ORDERING PARTS.
O 2) MINIMUM SHIFT PRESSURE OF 12 PSI ON PISTON PILOT PORTS.
1/8" NPTF
@ PILOT PORT
0] 4 v SCREW, 5/16-18 X 3, HEX HEAD, PLATED
19| 4 [v1045s STAR WASHER 5/16" STAINLESS STEEL.
18] 4 [v-105ss NUT, 5/16-18, HEX, STAINLESS STEEL
7] 2 [vn SCREW, #2 X 3/16 DRIVE, TYPE U, OVAL HEAD, STAINLESS STEEL
6] 1 [ANv114 NAMEPLATE, BLANK, FOR VALVES WITH SPRINGS OR DETENTS
Q 5] 1 [v8 O-RING, BUNA-N, 70 DURD, AS-110, (REF 3/8 X 9/16 X 3/32), 1" & 2" SUBPLATE PILOT
4| 1 [reecs PISTON - ENCAP, BLIND, 1/4" & 3/8" VALVE <
/@ B 1 v NUT, 3/8-16, HEX, PLATED
2] 1 [van WASHER FLAT 3/8" CADIUM PLATED FOR ALL PISTON OPERATORS
@ 1] 2 |vis U-CUP, 2-1/2 X 2-1/8 X 3/16, NITRILE
- 0] 1 [wsA 21/2" PISTON - 2 POS,, 1/4" & 3/8" VALVE
—=u = 9| 1 [Brv3t BARREL, SPR CTR, 1/4" & 3/8" PISTON VALVE
SIDE 'B' % % SIDE ‘A’ 8 [ 2 |v165 GASKET - PISTON BARREL, 1/4' & 3/8" VALVE
T T 7| 1 [rov3 PISTON - 3 POS., ROD END, 1/4" & 3/8" VALVE
= 1/4" NPTE 6 1 [v110 O-RING, BUNA-N, 70 DURO, AS-114, (REF 5/8 X 13/16 X 3/32), 1/4" SLEEVE, 1/2" SUB, STACK
PILOT PORT 5| 1 [A-prD ASSY - SPR CTR, REGEN CTR SPL, PISTON, 1/4 & 3/8 VALVES
4| 8 [v3s SCREW, 10-24 X 3/4, SOCKET HEAD CAP
3| 2 [ GASKET - END CAP, 1/4" & 3/8" VALVE B
P IE O-RING, VITON, STD BODY, 1/4" & 3/8" VALVES S
3 1] 1 [B BODY - SOLID, PLAIN, NO PILOTS, ANODIZED, 1/4" SIDE PORT VALVE q
FLG| QY | PARTNO  [DESCRIPTION A
. 2-PL DECIMAL + .01 AAA PRODUCTS [
SCALE1:1 LIMITS ON DIMENSIONS. 3.p{ DECTMAL + 005 A_AA* INTERNATIONAL [t
FRACTIONAL + 1/64 i
VIEW FROM 3 PORT SIDE OTHERWISE SPECIFIED  ANGU AR 4 1/2 opucrs 71%)4a I'I':s""')ll_):';ﬂsezsg"d é
(2) (Q) DRAWN: RMcKenna DATE: 9/27/2014 CHECKED: KWaite DATE: 3/26/2015 1>:
SCALE: 1:1 SHEET: 1 OF 1 RELEASED: HWomack DATE: 3/26/2015 ;
TLE: PART NO.: s
1/4" SIDE PORT, PISTON, 3 POS, g
TVT T PY2D <
ENSEN PR CTR, PISTON SHFT, REGEN CTR SPL 2
e

4 I 3 2 THE INFORMATION CONTAIQED WITHIN THIS DOCUMENT IS PROPRIETARY TO Af\A PRODUCTS AND MAY NOT BE DISCLOSED
WITHOUT PRIOR WRITTEN CONSENT



